beH3MHOBaA KOCa
«Kannbp EK-1800/2600/2600+/3000/3500»




BeH3MHOBAaA KOcCa

«Kannb6p BK-1800/2600/2600+/3000/3500»

MNos. HanmeHoBaHue ApTUKYN MNos. HaumeHoBaHue ApTUKYN
1 dunbTp BO3AYLWHbIN B cbope Y05270 32 KprBOLWKNNO-LLATYHHbIA MEXaHU3M Y03014.13
2 BuHT M5x16 BK1800(CH)A.2 33 MpaBan NONOBWMHKA KapTepa Y03011
3 Koxyx Bo3ayLwHoro punbrpa Y03004 34 XpanoBsuk cTapTepa Y03016
4 LWaliba npyXKunHHan BK1800(CH)A4.4 35 Mpoknagka crapTepa Y03009
5 BTynKa BK1800(CH)A4.5 36 CrapTep B cbope Y00837
6 BuHT M5x55 BK1800(CH)A.6 37 BuHT M5x18 BK1800(CH)A.37
7 MnacTuHa KpenéxkHasa dunbTpa BK1800(CH)A.7 38 BUHT M5x12 BK1800(CH)A.38
8 Kap6topaTop Y03020 39 KpbILwwKa 3aWwmnTHan Y03549
9 Mpoknaaka kapbtopaTtopa Y03552 40 KpbIWwKa uyunuHgpa Y03550
10 BuHT M5x25 BK1800(CH)A4.8 41 BuHT M5x125 BK1800(CH)4.41
11 KonnekTop BNyCcKHOM Y03001 42 LWaliba npy*uHHan BK1800(CH)4.42
12 MpoKnaaKa BNYCKHOro KOMEKT. Y02700 43 LLanba BK1800(CH)A.43
13 BUHT M5x20 BK1800(CH)A.13 | 44 CBeya 3a*KuraHms Y01499
14 KpbllwKa marHeto-poTtopa Y03002 45 UnnnHgp Y04826
15 Maney, HanpasaawoWwmii M5x10 BK1800(CH)4.15 | 46 MpoKknaaka raywurens Y03018
16 bonTt Konoaok Y04736 47 FnywuTens Y03010
17 LWarba BK1800(CH)A.17 | 48 Lanba BK1800(CH)A.48
18 Konoaku cuennenums Y01618 49 BuHT M5x60 BK1800(CH)A.49
19 LWariba BK1800(CH)A.19 | 50 KonnekTop BNyCcKHOM Y03001
20 Maiika M8 BK1800(CH)A4.20 | 51 BuHT M5x12 BK1800(CH)A.51
21 BuHT M5x16 BK1800(CH)4.21 | 52 MpoKknaaka umnnHgpa Y02699
22 KaTywKa 3axuraHua Y03015 53 Konbua nopHesble Y04703
23 MarHeTo-poTop Y03553 54 Konbuo ctonopHoe Y03008
24 JleBaa nonoBMHKa KapTepa Y03011 55 MopweHb Y04828
25 BUHT M5x20 BK1800(CH)A4.25 | 56 MoALWWNHMK nronb4yaTbii Y03533
26 LWaiiba npyKnHHanA BK1800(CH)A4.26 | 57 Maneuy, nopwHa y04827
27 LWaliba BK1800(CH)A.27 | 58 AmopTuM3aTop TONANBHOrO 6aka BK1800(CH)A.58
28 BTy/IKM yCTaHOBOYHbIE BK1800(CH)A4.28 59 Ckoba KpenneHus Tona., 6aka Y04553
29 Mpoknaaka KapTepa Y¥02698 60 Bak TonAuBHbIN Chuntao
30 CanbHUK 12*22*7 Y01673 61 BuHT M5x15 BK1800(CH)A.61
31 MoawwnnHmk 6206 Y00154 62 KpoHLuTeliH TonansHoro 6aka Y04554




beH3MHOBaA KOCa
«Kannbp EK-1800/2600/2600+/3000/3500»

[suratenb - TE40F-5A




BeH3MHOBAaA KOCa

«Kann6p BK-1800/2600/2600+/3000/3500»

MNos. HanmeHoBaHue ApTUKYN Mos. HanmeHoBaHue ApTUKYN
1 PenykTop B cbope Y05017 22 Tpy6a c BasiOM M BTy/IKAamm Y05015
2 CronopHoe KosbLo 26 BK1800(CH).2 23 BTy/nKa - NOALWUNHUK CKONbXEHUA Y05016
3 CronopHoe Konbuo 10 BK1800(CH).3 24 Ban npusogHoi Y06015
4 NoawwnnHmk 6000 Y00070 25 Tpyba antommHmeBas Y05084
5 Ban-wectepHa Y03546 26 PykoaTKa ynpasneHus, npasan Y04058
6 Kopnyc peaykrtopa BK1800(CH).6 27 PyKoATKka ynpasneHua, nesasn Y03547
7 LWecTepHa BK1800(CH).7 28 MydTa pyKOATKU ynpaBaeHus Y02038
8 WnuHaens peayKtopa BK1800(CH).8 29 MnacTMHa KoxKyxa BK1800(CH).29
9 MNogwunnHmk 6002 Y00149 30 BuHT M5x25 BK1800(CH).30
10 CTonopHoe Konbuo 32 BK1800(CH).10 31 KOKyX 3aLlUTHbIN Y016516
11 CanbHuK 12*28*7 BK1800(CH).11 32 MydTa B cbope Y05085
12 LWainba BK1800(CH).12 33 Mpy*KnHa BK1800(CH).33
13 OnopHasn waliba BK1800(CH).13 34 CTonopHoe KonbLo BK1800(CH).34
14 Hox (3 nonactu 25,4mm) 61807 35 Maney, BK1800(CH).35
15 OnopHasn waliba BK1800(CH).15 36 Kopnyc my¢Tbl Y03039
16 Malika Y01619 37 CTonopHoe KonbLo BK1800(CH).37
17 Waiba BK1800(CH).17 38 MoawwnnHuk 6202 Y00023
18 BuHT M5x10 BK1800(CH).18 39 CTonopHoe KonbLo BK1800(CH).39
19 BuHT M6x12 BK1800(CH).19 40 BapabaH mydTbl cuenneHus Y05014
20 BuHT M6x18 BK1800(CH).20 41 [Oswuratens - 1E44F-5A BK1800(CH).41
21 BuHT M5x25 BK1800(CH).21




